
ffi I

Feg- No. : ...,,............-............-..

Name:

K23U 2557

V Semester B.A./8.A. Alsal-Ul'Ulama/B.Sc./B.Com./B.T.T.l!1./B.B.A./B.B.A.-
T.T.M./B.B.A--A.H./A.C.A./B.S.W-/8.1,4.1,4.C. Degree (CBCSS OBE -
Begular/Supplementary/lmprovemeni) Examination. November 2023

(2019 2a21 Admissions)
GENERIC ELECTIVE COUFSE

5D02MAT : Quantitative Arithmetic and Beasoning
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SECTION A

Answerany 4 quesrons out oi 5 qleslons Each qleslon ca.res 1 mark

1 Dvide648 n lhe rairo 2:3:4
2 F nd lhe averale of al nlhbers belween 1 and 50 thal are m! tipes of three

3 A. B and C can do a pece of woA in 24. 6 and 12 days respeclvey work.!
logether r. hovJ many days willthey complete the work ?

4 A car movcs al a spe-"d ol 108 kmh. What is ts speed n melres pcr se.ond ?

5 Avendorboughlbananasat6forFs 10 and sold them at 4 lor Rs 6 Fndhs
oss or sa I Pcrce.lage (1ia=a)

SECTION. B

A.swcr any 6 q!-"slions olt oi l0 q!€slions Each q!eslion car es 2 marks

6 The averalealeolacassof39srlde.ls s l5yaars li thc age ol the teacher
is i.c !ded. the. the ave.age alle ncr.as.s by 3 mo lhs F.d lhe age of the

7 A man caf iowupslream al7 km pertro!ra.d dovr.sl€am al l0 km perlro!r
Fnd ma.: rale n sl lwaler and the ralc oi.! .nl

8 Atrain 150 m ong s runnrng wlh aspeed of68 km perholr n whaltme will
t pass a man vrho s nr.. ng al I km per hour rf the sanre drrection n whr.h
Iire tra n s ru.n ng t
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I A and B ca. do a work nSdays B and C can do the same work in 12days
and lhey three togethercan do it in 6 days. How many days willit iake lo linish
the work liA a.d C are employed ?

10. Excuding sloppages the speed ol a bls s 54 krn per holr and ncluding
stoppages t s 45 km per hoer For how na.y m nules does the bus slop per

1 1. I 1 5 nren working t hours a day can reap lie d n 16 days, in how rnany days
w 18 rnen reap lhe lield, work ng I hours a day 2

12 A shopkeeper so d a TV sel lor Fs. 17,940wth a dscou.r of 8% a.d ear.ed
a profil ol 19.6%. What would have been lhe percentage or proiit earned f no
d scount was ollered ?

13 Thecostp.ceolanarticeis640/0oithemarketpr.e Ca cllalc the ga n percert
ailer alow n9 a discount ol 12%.

1,1 Find the angle belwee.lhe hour hand and lhe minule hand 01 a cock when

'. W ' ^, .," ldro L"^"alo ia ,".J 6Io-0' (2.6=r2)

SECTION C

Answer any one q!eslon irom lhls Section. Each question ca es4marks.

16 The average lemperalureollhelown i.l rsl fourdays 01a monlh was 58 degrees.
The average Jor ihe second, third, iourth and ltth days was 60 degrees. lf the
temperarure ofrhe ilrsl andthe lllih days were n the ralio 7:8,lhen what was
the Iemperaiure on the lrlth day ?

17 15x2+6y,-13xy=O thenfrndx:y. la4=a)


